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126603-4 Kramer, Clercx, and van Heijst | Phys. Fluids 19, 126603 (2007)

t=0.2 t=0.3 t = 0.3278

FIG. 2. Sequence of vorticity contour
plots showing the flow evolution of a
dipole colliding with a no-slip wall for
integral-scale Reynolds number Re
=2500. The contour levels are drawn
t=04 t=05 t=06 for ...,~100,-60,-20,20,60,100,...

=07 t =08 t=1.0



Extract from Nguyen-Farge-Schneider (Phys.Rev.Lett. 2011):
(the horizontal directionis — )
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FIG. 1 (color online). Vorticity in the subdomain [0.708, 0.962] X [0.5, 0.754] at ¢ = 0.36, 0.4, 0.45, and 0.495 (left to right) for
Re = 7880. The white dotted box at ¢ = 0.495 frames region B (see text). Black pixels correspond to @ = =300 in all pictures.
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